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I. BEDO
1. RENVERE
B % 420,840 420,840
= FEES 2,269,794 2,269,794
EFIRE 533,820 533,820
BlTE 1,803 1,803
KINE 355,000 355,000
REEESE 0 3,581,257 3,581,257
2. BIEEE 0
(1) EREE 0
A% 28,800,000 19,200,000 48,000,000
I+ 7,200,000 4,800,000 12,000,000
(2)BTEEE
BEEEESE 36,000,000 24,000,000 60,000,000
E E & &t 36,000,000 27,581,257 63,581,257
I. BEO
1. RBaE
x i £ 0
Bl % € 0
Y 2 104,852 104,852
BBt 0 104,852 104,852
a8 F & = 0 104,852 104,852
I0. IERREAEE D AR 0
— AR IERREA 36,000,000 27,476,405 63,476,405
SbERPEADF L% (36,000,000) (24,000,000) (60,000,000)
ObLETEEEADT L) 0 0
ErkBIEAE 36,000,000 27,476,405 63,476,405
BERUVEKRMEA: 36,000,000 27,581,257 63,581,257




